Ratio to ATLAS

1072

1073

0.5

13000 GeV pp tt
:I_ I I I | I I I | I I I | I I I I I__
= tt= extrajet p_ratio (ATLAS tibar) =
- . -
[ m  ATLAS _
-~ Pythia 6.428 355 -

----- - Pythia 6.428 356
= —A— Pythia 6.428 370 =
- Pythia 6.428 379 -
B Pythia 6.428 ambtl B
. —— Pythia 6.428 z2 a
El | | | | | | | | | | | | | | | | | |E
:l T T T | T T T | T T T | T T T | T |:
| 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1

0 2 4 6 RpT,t%ar{t}

extral

Rivet 3.1.10, = 1.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


